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1. IZCHIZ
(1) a.  He’s writing, but you can’t imagine where / why / how fast / with whom.

b.  She’sreading. Ican’timagine what. (CLM (1995:242))
(1) = sprouting #3C  (cf. CLM (1995)) [ AR 0 HIBRER ]

) a. * Sandy was trying to work out which student would speak, but she refused to say who to /
to who(m).
b. * Tony sent Mo a picture that he painted, but it’s not clear with what.
(CLM (1995:279))

3) a. * Irv and someone were dancing together, but I don’t know who Irv and were dancing
together.
b. ?? Irv and someone were dancing together, but I don’t know who
4) a. * She kissed a man who bit one of my friends, but Tom doesn’t realize which one of my
friends she kissed a man who bit.
b. ?? She kissed a man who bit one of my friends, but Tom doesn’t realize which one of my
friends.
(5) a. * That he’ll hire someone is possible, but I won’t divulge who that he’ll hire is possible.
b. ?? That he’ll hire someone is possible, but I won’t divulge who
(Ross (1969:276-277)) !
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(i) implicit argument: narrowest scope fiEFR D 7,

(7) a.  Exactly three kids ate.
b.  There are exactly three kids such that there is something they ate.
c. * There is something that exactly three kids ate.
(Romero (1998:63))
t)) a.  Lastyear, he baked for few birthday parties.
b.  There are few birthday parties for which there is something to be baked.
c. * There is something that he baked for few birthday parties.
(Romero (1998:63))
9) a.  He never goes out for dinner.

b.  There is no occasion on which he goes out for dinner to one place or other.

o

* There is a place such that on no occasion he goes there.
(Romero (1998:63))

(i) A= — 7P 2
(10) a.  Shealways reads a book at dinnertime. We can’t figure out WHICH one.

b.  There is a particular book that she always reads at dinnertime, (a book > always)|

and we can’t figure out which book is such that she always reads it at dinnertime.

c. * It is always the case that she reads one book or other at dinnertime, ((always > a book)|

and we can’t figure out which book is such that she always reads it at dinnertime.
(cf. Romero (1998:62))

(11) * John knows a girl who has eaten (at that restaurant), but [ don’t know what.  (Nakao (2009:71))
(12)  3x. [ girl (x) A know (John, x) A Jy. [ eat (x,y) ]] (Nakao (2009:71))
(13) a. * That Tom will win is likely, but it’s not clear which race.

b.  It’s likely that Tom will win, but it’s not clear which race
(CLM (1995:279))
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(1) a. * No nurse was on duty, but we don’t know when.

b. * Anurse israrely on duty — guess when!
(Merchant (2001:227))
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(i)  * She denied that John ate, but I don’t know what. (Nakao (2009:72))
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2.2 Johnson (2001) °
(14) a.  Itisnecessary for Sally to win most races, but I don’t know exactly which.
b.  Itisnecessary for Sally to win, but I don’t know exactly which.
(Johnson (2001:220))

(15) a.  Itisnecessary for Sally to win most races.
doesn’t mean 3x: X a majority of races [ it is necessary for Sally [ to win X | ]
b.  Itis necessary for Sally to win.

doesn’t mean 3x: X [ it is necessary for Sally [ to winx ] ]
(Johnson (2001:220))

(16) [ Itisnecessary for Sally to win most races ], but I don’t know exactly which.

A= 3x: x amajority of races [ it is necessary for Sally [ to winx ] ] (Johnson (2001:220))

(17) a.  itisnecessary for Sally [ to [vp most races [yp win t |]] (cf. (152))
=‘QR @ clause-boundedness’

b.  itis [ap most races [ap necessary for Sally [ to win x ]]] (cf. (16))

(Johnson (2001:221))

(18)  1It’s likely that Tom will win, but it’s not clear which race (=(13b))

% (14), (15), (16), (17): SME SHI LR =
(18): SME SHIZCTRE =

(19) a.  Itold someone you would visit everyone. (* every > some)
(oK

every > some)
(Johnson (2000:188))

b.  Someone wanted to visit everyone.

(20)

L

Somebody believes that everyone is kind.
b.  Somebody believes everyone to be kind.
(Johnson (2000:192))
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(1) a. * To win is necessary for Sally, even though I don’t know (exactly) what. (Johnson (2001:219))
b. * That Tom will win is likely, but it’s not clear which race. (=(13a))
(i) The Sentential Subject Constraint
No intrinsic variable, o, in [ cp... o ... | may be bound by something outside of CP, when CP surfaces in
Specifier of IP. (Johnson (2001:220))
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(21) a.  Adifferent student said that I had read every book.
b.  Adifferent student wanted to read every book.
(Johnson (2000:198-199))

(22) a.  It’s likely that Tom will win, but it’s not clear which race (=(18))

b.  itis [ap implicit arguement [ ap likely [ that Tom will win x ]]]
%

=‘QR @ clause-boundedness’

ST
(23) a. * That Tom will win is likely, but it’s not clear which race.
b

. It’s likely that Tom will win, but it’s not clear which race

(=(13))

(24)  That Maxwell killed the judge was proven, but it’s still not clear with what.
(Merchant (2001:222))

(25)  e-givenness
An expression E counts as e-given iff E has a salient antecedent A and, modulo 3-type shifting,
(i)  Aentails F-clo (E), and
(i)  E entails F-clo (A)

Focus condition on IP-ellipsis
An IP o can be deleted only if a is e-given.
(Merchant (2001:30))
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(26) a.  That Maxwell killed the judge was proven, but it’s still not clear with what. (=(24))
b.  withwhat; Maxwelldlled-thejudge (Merchant (2001:222))
c. withwhat; thatMaxwellkilledthejudges wasproven

(27) a. * That Tom will win is likely, but it’s not clear which race. (=(232))
Tomwillwing, # that Tom will win ¢ is likely
which race; thatTomwillwintis-likely
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(29)

(30)

GD

R
a. * Irv and someone were dancing together, but I don’t know who Irv and were dancing
together.
b. ?? Irvand were dancing together, but I don’t know who
(cf. (3)
a. * She kissed a man who bit one of my friends, but Tom doesn’t realize which one of my
friends she kissed a man who bit.

b. ?? She kissed a man who bit one of my friends, but Tom doesn’t realize which one of my

friends.
=)
a. * That he’ll hire someone is possible, but I won’t divulge who that he’ll hire is possible.
b. 7? That he’ll hire someone is possible, but I won’t divulge who
=)

3%(29-31) =merger H3C  (cf. CLM (1995))

(32)

(33)

(34)

(35

(36)

(37
(39)

merger A S ZBIEE S5 island repair effect (2132 734D FIEENE

a.  ellipsis {2 £ % repair (Fox and Lasnik (2003), Merchant (2001, 2008))
b.  resumption {Z X % repair (Boeckx (2008), (Sauerland (1996)))
c.  wh-in-situ (Kimura (2010))
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wondered how John managed to cook |.

(cf. Boeckx (2008:217))
sprouting f#3CIZF3V N TIL,  island repair effect |37 HAL72 0,
That Maxwell killed the judge was proven, but it’s still not clear with what. (=(24))

John bought something, but I don’t know what.
a.  ...[ce Cq [t Johnboughtwhat]]
b. .o.lee wh [¢ Ciq [t Johnbought what ]]]
C. ool wh [¢ C [m—Jehnbeughtwhat]]
(Kimura (2010:50))
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